


23 10 27

) 23 10 27

13

09

04

23 10 27 23 12







10

11

12

13

14




25.00%

5.00%




1,410.5

1,410.5

217.34

25.00%

5.00%




1

) L

10

1m

4cm

/3.0

11

1m




1m




A(




_1)

3.1m (

*1

*1

_1)

(

10~12t

-1)

8~20t (

*1

*1

-1

(

10~-12t

3.1m

10~12t

8 20t

10~12t As




=
=
o
—
Lo
~
—
1
o’/
-
o
Q@
[ee) =
—
' 3= 3=
™ N o
4_ N
1 1 1 1o Il 1
— [e0]
— 1l
I =3 [e0] ~ 1 < [{e] (o] [{e]
= ~ N~ am — o o o
— < — — <t zm o o o o 2m
X * * * * * * X *
— — |
zm 2m
~
o’/
]
o
N o
[e0] (2] —
[e0]




~
— ~ ©
~
—
1
o/
<
~
a =
S
©
1
<
~
™
3
o ~
~
N
o/
%)
= < =
S S
. = S
© - = ) .
1 N o S o
< — N . —
. ! o
" T i nlo n TP T
— o T J -
< ™ © < <t <t 1 1" = g I py 7o)
o A ~ o o o = = © © ~
f > ) N N N .
o o o o o o — — — < = — © —
X X X X X X * x * X x X x
— —
=
o/
=
S
€
— o~ <
— — '
~




fUl [ P 7 ; S=1:5,000

TR ¥ 1 N T b, ™ <M



